05331 |z 4

7= Gk e

M

SR RPR , BWE I THEN.

I

AT IR £

ST, MR, ATFRBUEBRNOEMEETE,
REZR S EER LA E,

238K , SRR ENFRIPIEEIBEEE,

BR:

BN FHFH  SPIFHEFUTRER  BEEBUMNTENIRERS

LR, ZARBEERRZIME | b BURIRIEEIRFHIRK A £
ZARMAUETREREVRES B RNFH A NEE,
BRETREHRITEN

- SIEEIM 44 EREMARBERIFRE ;

- RBEIRINESEII TR EREE ;

- EF R SREI KRB RTFE ;

- KU T D RN R K FE,

VL = SE6bar T REL SRR ERNFESE (dm3) .

IRRARAE

RTETFEERSRHWEER , RIEPIHE TS E6barF RAHRKES
MKEH, FIRNEFEHFHRANRED , FARREZ S HEAHRE
Ho

ZH
B RFIAN —PNREZ NG RENEEREERE, IFRITTENE
HIRE | WERRMEMMN SRR |, tATRER AN 5 BRI XE 4

BE :
RPFIMF2FREN ARG D ; F3MF4RKE S,

© norelem www.norelem.com



05331 =z S 4t

]
7
=
2 T : H‘&"““‘x. :
=
I
r N
L
L6
D
E :
5 PRSI 0
a{ i - 10 0] =
500 | |
13 12
gkt 3. 4.
D EE || Sk
N dmmpPE
e it
T of s
Qg YU
7| =imEsk
L3 12
0N 2eiEE

SE-ERE=S
A RS 6bar.

www.norelem.com

© norelem



05331 |z 4

05331-01 A 50 5 24 4,5 8 21 45,5 32 10 49,5 -2-45 84
05331-02 B 54,5 6 27 5,5 12 26 55 40,5 12 61 -1-7 104
05331-03 A 62,5 8 32 7,5 16 36,5 74,5 56 18 82,5 54-14 151
05331-04 A 77,5 10 | 45 8,6 16 45 90 64 20 98 -3-25,5 191

05331-01 39 16| 6 |18 126 - M5 92° 08 11 0,2 0,3 0,08 M5x30
05331-02 515 20| 6 |25 145 12,5 M5 91,5° 1 1,2 0,7 1 0,26 M6x35
05331-03 78 20175 (36 19 165,5 - G1/8 90° 1 25 | 0,65 1,1 0,35 M8x45
05331-04 101 32| 13 |45 25 196 - G1/8 90,5° 2 3 1,5 2,2 0,8 M8x65

© norelem www.norelem.com




